
16m TRH acting up
TRH at 16 meters has had sporadic problems since Apr 8 07:00 MDT.

Over Apr 10,11 and 12 it seems to come alive in the warmest part of the day,
(at temps over 10C) and then fails as the temp falls in the evening. See plot below.

Here is a dump of some recent data (times in GMT).
Looks like the processor is getting reset, printing out its calibration
information when it boots. Perhaps the power is dropping out?
Corroded connection?

data_dump -i 1,320 -A manitou_20100411_000000.dat | more

2010 04 11 00:56:36.0258  0.3326      30 TRH015 7.77 36.73 4758 1178\r\n
2010 04 11 00:56:36.8640  0.8381      30 TRH015 7.79 36.69 4760 1177\r\n
2010 04 11 00:56:37.6940    0.83      30 TRH015 7.74 36.69 4755 1177\r\n
2010 04 11 00:56:39.9607   2.267      91 
\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x0
0\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x0
0\x00\x00\x00\x00\x0
0\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x0
0\x00\x00\x00\x00\x0
0\n
2010 04 11 01:00:58.2916   258.3      17 \r Sensor TRH015\n
2010 04 11 01:00:58.3121 0.02053      29 \rcalibration coefficients:\r\n
2010 04 11 01:00:58.3619 0.04973      21 Ta0 = -4.076641E+1\r\n
2010 04 11 01:00:58.4016 0.03978      21 Ta1 =  1.031582E-2\r\n
2010 04 11 01:00:58.4489 0.04731      21 Ta2 = -2.394625E-8\r\n
2010 04 11 01:00:58.4907 0.04176      21 Ha0 = -1.160299E+1\r\n
2010 04 11 01:00:58.5318 0.04105      21 Ha1 =  4.441538E-2\r\n
2010 04 11 01:00:58.5752 0.04345      21 Ha2 = -3.520633E-6\r\n
2010 04 11 01:00:58.6174 0.04219      21 Ha3 =  4.330620E-2\r\n
2010 04 11 01:00:58.6595 0.04213      21 Ha4 =  6.087095E-5\r\n
2010 04 11 01:00:59.3678  0.7083      24 
\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\x00\n
2010 04 11 01:02:12.1760   72.81      17 \r Sensor TRH015\n
2010 04 11 01:02:12.1931 0.01712      29 \rcalibration coefficients:\r\n
2010 04 11 01:02:12.2448 0.05173      21 Ta0 = -4.076641E+1\r\n
2010 04 11 01:02:12.2831 0.03822      21 Ta1 =  1.031582E-2\r\n
2010 04 11 01:02:12.3282 0.04517      21 Ta2 = -2.394625E-8\r\n
2010 04 11 01:02:12.3694 0.04114      21 Ha0 = -1.160299E+1\r\n
2010 04 11 01:02:12.4133  0.0439      21 Ha1 =  4.441538E-2\r\n
2010 04 11 01:02:12.4565 0.04324      21 Ha2 = -3.520633E-6\r\n
2010 04 11 01:02:12.4920 0.03553      21 Ha3 =  4.330620E-2\r\n
2010 04 11 01:02:12.5381 0.04609      21 Ha4 =  6.087095E-5\r\n
2010 04 11 01:02:12.8732   0.335      30 TRH015 7.65 37.52 4746 1200\r\n
2010 04 11 01:02:13.7034  0.8302      30 TRH015 7.59 37.47 4740 1199\r\n
2010 04 11 01:02:14.5444   0.841      30 TRH015 7.59 37.44 4740 1198\r\n
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